Pre-Calculus 11

Chapter 2 Review for Final Exam

Name

Solve each triangle. Round answers to the nearest tenth.

1)

2)
c

/\

4 9

State the quadrant in which the terminal side of each angle lies.

3) 230°

4) 326°

Draw an angle with the given measure in standard position.

5) 185°

A

Find the reference angle.

7) 135°

9) 320°

wY

6) 320°

A

B

8) 275°

10) 170°

Find the exact value of each trigonometric function.

11) cos O

240°

® Y

12) sin 6

315°

-1-

i

«Y



13) tan 225° 14) sin 150°

Use the given point on the terminal side of angle 0 to find the value of the trigonometric
function indicated.

15) cos 6; (—4, ——2\/?) . 16) tan 0; (3, 5)
17) sin 6; (2, 6) 18) cos 6; (-7, 3)

Find each measurement indicated. Round your answers to the nearest tenth.

19) Find RS 20) Find mz£Q
T
59° ' 750
17 cm 18 ft
92° ‘
S R Q 26 ft P
21) mzA=107°, m£C=12°¢c=5m 22) InARST, m£ZR =34°,t=18 mi, r = 19 mi
Find a Find mzsT

State the number of possible triangles that can be formed using the given measurements.

23) m£A=82°c=19mi,a=9mi 24) mzC=65°b=35mi, c=34mi

25) mzA=95°,a=34in,c=211in

Find each measurement indicated. Round your answers to the nearest tenth.

26) Find AB 27) Find msS
B y T 22.8m R
‘ﬂ 127m
174mN%2 452 m
c S

28) InAPKH,mzP=137°, h=181t, k=121t
Find p

29) InACAB, b=14mi, a=30mi, msC=29°
Find mz A4

2.



Pre-Calculus 11 Name

Chapter 3 Review for Final Exam

Identify the vertex and axis of symmetry of each. Then sketch the graph.

) y=(-17*-5 2) y=—(x+4)°

3) y=2{x-6)’ 4) y=———£1-‘-(x—3)2+3

5) y=3x>—4

Write each quadratic equation in vertex form by completing the square, and then sketch the
graph of the equation. '

6) y=x*—-6x+7 7) y=—x*—6x—6

8) y=2x*-16 1
) y=2x x+ 36 9)y=§x2—2x—1

10) y=—4x*—24x-133



Pre-Calculus 11 Name

Chapter 4 Review for Final Exam

" Factor each completely.

1) x*+9x+20 2) x® —6x* —27x
3) p* +3p—40 4) b>—8b

5) x* —100 6) 2rt +r—1

7) 6n® + 10n — 24 8) 5n% —9n—2
9) 351> —45n 10) 9n2—64

11) 10v* +41v—18 12) 4k* -9

Solve each equation by factoring.

13) 5(76+6) =0 14) (n—4)(n—-5)=0
15) (r=3)(r+2)=0 16) ¥ —10k+16=0
17) 2vV* +16v+32=0 18) —60n =—180 — 51°
19) 2n* =24n-170 20) Tn* +12n—4=0
21) 50> —1la+2=0 22) 3b* —3b=35+5b

Solve each equation with the quadratic formula.

23) 4x* +3x—115=0 24) 4x* +12x-7=0
25) 6b% —11h—81 =-9 26) —2m* +3m+89=12
27) 2n* —5n =288 28) —51 — x = —6x*

29) ~95 + 10x = —4x” + 11x 30) —6a> —Ta +86=—12



Pre-Calculus 11

Chapter 5 Review for Final Exam
Simplify.

1) \/288

3) 8.\/35

5) ~625v

7y 2~ 625x

9) ~/s12m*n*

11) V17sxh%*

13) 33 -3

15) 245 +3/5

17y -5 +2+20 - /24

19) 5 -3
21) 3/3(24/5 +V3)

23) (a5 +\2)(W5 +/2)

Name

2) V128

4) ‘—4«/—2_03

6) \/32m

8) 4\/0gm®

10) 2%

12) 8<250mnp®

14) 36 -32 - 36
16) 23 —3~/27

18) 2+/24 —3+/45 + 35

20) V12 - V6
22) —5v/15(4 + /6)

24) (-3 -5V2)2 +/2)



v V542

25) 7 | 26) ==
27) ——\/I—g | 28) 45_\/\?
29) 3_4—3\/—; | 50) _3 "3
31) \/§+5 _ 32) \/_2_—\/_3—
3-4/3 242
Solve each equation. Remember to check for extraneous solutions.
33) —18=-3v—6 | " 34) 4\/x+9 =20
35) V12— x=x 36) V3x+ 14 =Vx+10
37) n=~"n | 38) x=—49 + 14x
39) b=3+7b-31 40) \3v—23 =v-7

41) Vax—5=1-V3x+4 42) Vag-3=2a-5+2



Pre-Calculus 11

Chapter 6 Review for Final Exam

Simplify each and state the excluded values.

5

1 - 54a
12a

3) n+9

n+17n+72

2k + 8
K —4k—32

24n? — 80n
40> — 40n* — 80n

7)

10m> 2m

5m? E

S(n+8) (n+6)(n—2)
n+6 4(n—2)

11)

dm+32 m+2

13 .
) 3 4

54n n? —-12n+35

15 .
)n2—11n+30 n—"17

2.8
10%

(—6)(r+8); r—2
10(r+8) '(7'—7)(1"—2)

19)

Name
2
%) 12a
20a
%) 35n4~42
9
6) 6k — 54
9k — 81
) b? —4b-21
b® — 10p% + 215
2
Tp 8
(n+7)(n+9) (n+10)(n+1)
12) .
(n+9)(n+1) n+10
14) 1 .10x+20
x—4 10
2 p—
16) 4q +28a_ 10(21 40
a+7 4q” + 8a
3
18) —+—
) 8v?
20) (x 7)(x 4) ' (x 7)(x 4)

-1-



24-2k—k* k-4
k+6 10k

21)

2) n2+13n+42;n2+13n+42

nW—6n-16 3n

Simplify each expression.

xX—y +x+2y

25
) 20yx  20yx

4 u+6
27) —
v 2uy

29)

m+6 2

2 3
31) 22, 2
2 10m + 4

6n’ + 60n

22 +10) + ————
)(n ) 61’ — 36n

9x-9  9x+63
3x+21  x%+14x + 49

56-3 5
3(56+1) 3(56+1)

26)

3m 6m

28) — - —

) 3 40
30)2_ 3x—6
3 4(x—3)
32) 3 _a+3
a+1 3a

Solve each equation. Remember to check for extraneous solutions.

6 1 1
33) o= 4 —
)T

0 S S—

x x+3 x2 +3x

1 5v—4 v+1
2t =
3v 3v 3v

37)

39) 1= % v+5

v—1 3v* -3y

34)l_§ a+>5
2 a

a
4 2 1
= +
r+2 r+5 r+5

36)

1 3n-9 +n2—10n+24

2n’ 4n? 4n?

38)

4 1

- —(n+1
6n—5 6n—5 (n+1)

40)



fre‘—CalcnIus 1 : Name -

Chapter 7 Review for Final Exam

~Graph each equation.

Solve each equation.

5)-|—’i=_3 6) 6|x| —9=3

9
7y |n+5| =3 8) |n—8|+10=16
9) 9—6|-5b| =69 10) |4-6v] =2

11) |-9-3n|+1=10 12) 9|4 +2n| +2=56

1) y=|-2x-3] 2) y=|2x+2]|

Ay Ay
d 5 4 32 ) x [ /N PR P 1 s x

i B

3) y=|-3x-1] 4) y=|3x-3|
Ay Ay

S R T T ] x N S g g 1 *
_;V Y



Pre Calculus 11
Reciprocal Graphs
Graph the reciprocal linear functions.

1
x-3

1) y=

Determine the:

equation of the asymptote

the invariant points

A

=2

5

Name

1
2 —_—
) y= 3

-—x+4
5

Determine the:

equation of the asymptote

the invariant points

—42

A

wY



1

3 .
) y—(x—_1)2—4

Determine the:

equations of the asymptotes

invariant points

A

=9l

4) y=

1
4x% + 24x + 36

Determine the:

equations of the asymptotes

invariant points

AY

A




Pre-Calculus 11 Name

Chapter 9 Review for Final Exam

Solve each inequality and graph its solution.

1) b=2-2b<5 2) 6p+4p<0
3) 8+3b<15+4b 4 1-k<-3k+1
5_) —84 <3(5a —4) - 6a 6) —413 s—7(7x+3)
7) —2(5% — 4) <20 - 6x | 8) 7k—21<7(k-3)
- 9) —4(8 —7r) = 3(-r—4) <20 10) ~7(3 = b) + 6(—6 — 8b) < 25

11) 4+203r-6)<=2(1+7)-6 12) —2(~6x+2) <43 - %)



Solve each inequality.

13) 3x-9<0

15) 5(x-2)>3x+4

17) —x? +4x <5

19) 2x2 +10x +12<0

21) 4x% - Tx <=3

23) 2x* - 28x + 98>0

25) —x* - 10x-25<0

14) 2x - 10> 3x +10

16) 3x+5-4x-7<-2(4-x)+1

18) 2x* +10x+12<0

20) x* <-3x -2

22) 6xX—12>x

24) 2x* > Tx +4

26) x* +3>3x* +3x



”

Answers to Chapter 2 Review for Final Exam

1) meB=62°, a=8, c=17 °~ 2) m£B=65° a=338, b=82 3) 1
4 IV 5 6) 7) 450
8) 85 . 9) 40 | 10) 10° . 1) 1
V2 :
2 13) 1 1 ‘ 2
— 14) — 15) ——
12) -— | ) | ) 3
5 ' 3410 NE 19) 30.1 cm
16) — 17) —— 18) ——
3 . 10 4
20) 42° 21) 23 m ‘ 22) 32° 23) None
24) Two triangles 25) One triangle 26) 269 m 27) 42.2°
- 28) 281t 29) 130.1°.

Answers 1o Chapter 3 Review for Final Exam

1 Ay ‘ 2)
M N Vertex: (1, -5) 2 Vertex: (~4, 0)
A r Axis of Sym.; x = | : . Axis of Sym.: z =4
\1 1/ i
J e B\] 2/4 x B 5/ N\ x
_ Wl N
' 4 Y
3) ) : 4)
K Vertex: (6, 0) QJ’ Vertex: (3, 3)
\ _ Axis of Sym.: x=6 Axis of Sym.:x=3
T =
-« N - -.‘/ \\ L.
-8 6 4 —2_ 2 4 x B 5 14 -2/ \ -
§ g R
}/ -
- ' g
5) | 6)
4 Vertex: (0, ) A7
Sk Axis of Sym.: x =0 7
B ,
. 53] \ /
5+ 2l[/2 4 x -1 3 4 x
Y 3




t).

ky ) ) - P Ly
_ ’ i 1 \ j ™ .
< / \ 1 \ / ~’\\\ A
—4 2 1 x _: N //
o Y 2 4 6 8§ 10 12 y
10) x Y
2
ad L bRy
|
%
|
5
4
Answers to Chapter 4 Review for Final Exam
1) (x+5)x+4) 2) xx+3)(x-9) 3) (p-5)p+8) 4) b(b 8
5y (x+10)(x - 10) 6) 2r-1)r+1) 7) 2037 - 4)n+3) §) (sn+1)n—2)
9) 5n(7n-9) 10) (37+8)(3n—8) 11) (2v+9)(5v-2) 12) (2k+3)2k-3)
{ 6 } 14) {4, 5 15) {3,-2} 16) 8,2}
13) |~—0
17) -4 18) {6} 19) {5,7} " 20) _3_ _2}
1) % , 2}_ : ) ‘_ 7. \ 23) {5,~5.75} 24) 10.5,-3.5}
25) 145, -24667) 26) {55, 7). . 27) {8,-5.5) 28) [3,-2.833}
39) {5, =475} 30y {-=4%667,3 5} |
LRI | Answers to Chapter 5 Rev1ew for Fmal Exam =
1) o 2 3y 3242 4) —402
5) 54 5v 6) 4\2m 7y —10/5x . 8) 28m~2m
9) 16m*n*~2 10) 8% 71y 11) 52227 12) 40m2n?p~l2n®
13) 403 14) ~63/6 -332 15) 95 16) <13
17 35 -2/6 18) 43665 19) V15 20) 62
21) 6315 +9 22) —20«/— 15410 23) 18 -33/10
24y ~16 132 25 L 5 «/543-\/5 )
4\/— f ) ,—20+712\/§ 20 6+3;/£ o 4 3;+9, ._
2 _I 4+d§ +2V6 33) {42} 34) {16]
” _
35) {6} 6) {2} 37) {0, 7} 38) {1

39) {8, 5} 40) {9, 8} : ‘41) No solution. 42) {7, 3}



Answers to Chapter 6 Review for Final Exam

' 9q* 3a . 1
) —: {0 2) —; 0 3 ; 19,8
) -2 () ) 225 ) ) i o
4) sn=§ : No excluded values. 5) —klé-; {8, —4} 6) %; {9}
3n—10 ' ' b+3 9) 1; {o}
> 0523_]- 8 N - 0,7,3
(20 oy ey KR L e ARl
2 . . A -0 -7 —
10 8?;) o) 1 5(71;—8);{_6’2} 12) n+7; {-9,-1,~10} "
13) (—”"—Ji—g)(—miz—);None 14y 212 14 15y 2. 6,5, 7}
( 3) x—-4 n—26
10la—4) ' 25k 40v
16) ———=; {-7,0,-2 17) = {o 18 ;{0
_6>a+2,{ } Dl ) =10
19) (r—63§)r—7);{_8’ 7.2) 20) J51_0 4,7 21) -10k; {-6,0,4}
22) n-6; {0, 6, —10} 3n x-1
23) ——— {8, -2,0,-7,-6 24 =
o A R
2x+y . 5b-8 8uv +3u+18v 2mn’ —3m
25 2 2 28) T
) 20yx ' 2 156 +3 N 6v>u ) 2n’
. dm+ 17 8x* —27x+6 10m? + Tm 5a-a* -3
29 30) ————— 3]) ———— L)
R 30 4(x - 3) )2(5m+2) ) 3g(a+ 1)
33) {5} 34) {-16} 35) {5} 36) {14}
1 11} 5 1. 2
37y {1,~ 38) 2,—1 . 39) |- 40) |= ==




Answers to Chapter 7 Review for Final Exam

ho 7 2 Ay ) A
N\ _,/ A . \ /‘
{ | \ Y/

5 i b by ¥ 4 -k % Y k& 6z 3 4 -z\?

4) ‘;y | : 5) No s‘ohxlionk ' | 6) {2,-2} . '
X; /
A4
MR/
( ' :
7 {-2,-8) g) {14,2} - 9) No solution. 10) {l 1]
3
1D 6,0] 12) {1, 5]

Answers to Reciprocal Graphs |

1) =3, (2,-1)and (4,1) 2) x=6.67, (8.33,-1) and (5,1)
“\J’ AY
fm
JENERELE T
e B R I Y R iVID"ﬁ_:

Y Y
3) x=1,%x73,(-.732,-1) & (2.732,-1) and (-1.234,1) & (3.236,1)
4) x=-3,(-3.5,1) & (-2.5,1)



Answers to Chapter 9 Review for Final Exam

D) b>-7" ittt >
-4 12 210 -8 -6
3) 5> T it Dttty
12 -0 -8 -6 -4 -2
5) a>_8:<_*__'_€7.77ﬁ- 0 ; ;
-0 8 6 -4 2 0
N x27 P >
4 6 8 10 12 14
9) 7 <0 bttt >
- 6 -4 -2-0. 2
11) 7< 1! it t—t—t—t—t>
2 0 2 4 6
13) x<3 14) x<-20
17) x<-1,x25 18) 3<x<-2
' 1 1
21)-3—<x<1 22y x<——x2—
4 3 2

25) all real numbers 26) -2.19<x<0.69

2) p<0: et S—+——+—+—+>
-4 2 0 2 4

4)k<0: 4444 e o
8% 6 -4 -2 0 2

6) ¥x<8: *—+—————+>

16) x> —
) 3

19) no solution 20) 2<x<-1

23) x#7 24)x<—%,3c>4'



